NB SIGNATURE AT WORK-60“/72" Frosted Glass Privacy Panel
— SERIES — ASSEMBLY INSTRUCTIONS

800-558-1010 | www.NBF.com
Congratulations on the purchase of your new Signature Series product!

COMPONENTS HARDWARE & TOOLS
@ Glass Panel -1pc Panel Brackets for @ Panel Brackets for @ Bolt M6*15mm- 8pcs Tools Required for Assembly
2 Desks - 2pcs Single Desk - 2pcs (For AW-B20789)
(Purchased separately) (Purchased separately) 9
(Item#:AW-B20789) (Item#:AW-B20790) %\\\\\\\\
Bolt M6*15mm- 4pcs ®
(For AW-B20790) Philips Screw Driver for
@ @ Bolt M6*15mm and @ Bolt M6*15mm

INSTRUCTIONS

COMPLETED

(STEP1-STEP3)

(STEP4-STEPS6)

AW-20198/20197



NB

SIGNATURE
— SERIES —

800-558-1010 | www.NBF.com
Congratulations on the purchase of your new Signature Series product!

AT WORK-60“/72" Frosted Glass Privacy Panel

ASSEMBLY INSTRUCTIONS
o ———

INSTRUCTIONS
STEP 1
NOTE «@
This step only applies if installing after tables have been assembled.
If installing befored the tables have been assembled,go to step 2.

STEP 2

~,

AW-20198/20197



SIGNATURE AT WORK-60“/72" Frosted Glass Privacy Panel
NB — SERIES — ASSEMBLY INSTRUCTIONS

I
800-558-1010 | www.NBF.com

Congratulations on the purchase of your new Signature Series product!

INSTRUCTIONS

STEP 3

STEP 4

NOTE

This step only applies if installing after tables have been assembled.
If installing befored the tables have been assembled,go to step 5.

AW-20198/20197



NB

SIGNATURE
— SERIES —

800-558-1010 | www.NBF.com
Congratulations on the purchase of your new Signature Series product!

INSTRUCTIONS

AT WORK-60"/72" Frosted Glass Privacy Panel

ASSEMBLY INSTRUCTIONS
I

STEP 5

STEP 6

AW-20198/20197






